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No x4 iR 500m 7;0:0;7 1500m s

1|18t # 4L ETRAT 1 1 1

2|1 FH E X FI4BEHHE 3 3 2

3 |E 2 = =R g S )2 5 2 4

4 1% b B oK (GES NS> 4 4 3

5 12 I B K ERUCZ R AR 71 2 5 5

6l R&%F & @ ek N 7 9 7

T|E B T X RRK 6 11 6

8B O # % AR PR 8 6 10 )

9|+ & XA RRK 9 8 9

10|& # #{£ BERBR 14 12 8 J

1 & B x HEERR—ViHe 17 7 13

12[8 B # & U &5 ZSSC 11 10 15 J

13|&F & £ HWIRRIE SR 10 15 17 J

14|85 R <2x Tl YT4L 12 17 14

15|k & #1 W PR 13 14 19 J

6|5 # & # HBERSSC 28 30 11 J

17| £ & E HSC 23 16 16 J

BNt B R =BERFH 35 13 29

9| N B\ E 0 &5 ZSSC 34 33 12 J

20 (B PR %= A TERRRSSC 15 29 26

21|k I ' %= IS E1EPN 16 26

22|k B wUH Sk N 18 20 25

23|12 T & EAARER 21 25 18 J

24 (19 M Tde A BIEY 77 19 24

BIK R B FE 1&RSSC 21 20 )

26|15 )1 & & U &5 ZSSC 19 23 28 J

27|14 £ BERE HSC 32 18 34 J

28 |8 B M4 BERBR 22 J

29T F T & fBRSSC 27 28 21 J

30| R =&EH O & 5 ZSSC 26 24 23 J

31K B B LB R 22

R|AE B W 0 &5 ZSSC 20 31 J

Bl R B R TN 22 30

Mk 560 i N 24 31 27

35|& 54 B HRIKZE 27 33

B|=ZH#H 25 EEmBRER 29 34 35 J

37| £ & HEHRSSC 32 32 J

3B |# B REE g akealin 25 (€)]

9|+ B F RAFEH RS 33 35

40 |[fh B X TE BRI 31 37 J

41 |B  FL B FHISSC 30 36 )

P21k &8 f# X JR&SSC 36 J
35 36 37
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